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1. HEEHEE
H31.1~4 H30.1~4 H30.1~12 H30.4~H31.3 H29.4~H30.3
3H 48 (H314ERE) (BTERL) H30ERE) || meozmEzsh | @GiEERD)
BEr-ERTE 38,804 23,829 110,521 110,253 318,956 318,372 321,262
(A4.9) 3.7) (0.2) (A3.0) (A1.7) (A0.9) (A 1.4)
- 38,376 23,431 108,879 108,573 313,566 313,029 315,423
i (A4.8) (3.7) (0.3) (A2.8) (A1.5) (A0.8) (A 1.3)
= - 428 398 1,642 1,680 5,390 5,343 5,839
KA (A12.7) (2.3) A23)| a8 (a1l (A85)| (A 92)
= E 2,928 2,814 10,255 10,425 31,406 31,008 32,107
(A9.8) (8.8) (A1.6) (0.6) (A1.7) (A3.4) (4.7)
T 2,759 2,662 9,785 9,744 29,145 28,969 29,889
7] (A6.1) (8.9) (0.4) (0.7) (A20) (A3.1) (4.7)
] = 15,441 20,536 72,665 63,679 184,483 190,452 188,418
(A16.1) (17.2) (14.1) (A54) (A3.4) (1.1) (11.8)
Rl 13,776 19,108 65,902 58,802 166,681 171,160 170,497
~7 (A18.8) (15.9) (12.1) (A6.1) (A4.0) (0.4) 9.7)
& =t 57,173 47,179 193,441 184,357 534,845 539,832 541,787
(A8.5) (9.5) (4.9) (A3.7) (A2.3) (A0.4) (3.2)
B E KX 5 28,145 15,865 179,216 198,914 472,702 496,522 522,869
(A53.6) (A73.3) (A9.9) (A6.0) (A10.1) (A5.0) (16.9)
2. ER RS
H31.1~4 H30.1~4 H30.1~12 H30.4~H31.3 H29.4~H30.3
3H 48 (H314ERET) (BTERL) H30ERE) || teoEEzsh | @iEERD)
< 7 e 6,431 3,775 18,183 17,363 48,630 48,984 47,603
=2 ’ ’ ’ ’ ’ ’ ’
c REET 0.8) (14.1) 4.7 (1.4) (2.5) (2.9) (4.4)
Sl - 5,773 5,909 21,540 20,424 64,211 64,561 62,452
H (A1.3) (14.9) (5.5) (A0.7) (2.5) (3.4) (1.4)
- 7 0 12 7 31 41 28
’|‘ AEET (250.0) (A100.0) (71.4) (A30.0) (A6.1) (46.4) (A34.9)
S 169 152 470 681 2,261 2,039 2218
7 |WEEET (A45.0) (7.8) (A31.0) (0.1) (2.0) (A8.1) (5.3)
< - 307 240 984 956 3,164 3,200 2,605
¢ | FEEF 13.7) (A3.2) (2.9) (19.6) (26.3) (22.8) (6.8)
A 1,665 1,428 6,763 4,877 17,802 19,292 17,921
n |[HEEEET (16.4) (38.4) (38.7) (4.2) 2.7) 7.7) (36.1)
3. HIrHEEEFREUVERAFER M EESE KRG
H31.1~4 H30.1~4 H30.1~12 H30.4~H31.3 H29.4~H30.3
38 48 (GEIE:225)) (BT 4F R HA) (HIOEFERED || HoFERE) | RIFEERLD)
AR 22,256 19,784 80,790 81,256 234,309 230,792 240,118
(A9.8) (18.2) (A0.6) (A5.8) (A2.4) (A1.9) (A 0.1)
e 24,681 16,733 - - - - -
H ) ,
Al [R5 (A10.5) (A0.7) - - - - -
EJ=FTES 27 13 94 82 293 305 295
s lmE (3.8) (0.0) (14.6) (A6.8) (A0.7) 1.7) (A 13.5)




4. BHIFEREH

H31.1~4 H30.1~4 H30.1~12 H30.4~H31.3 H29.4~H30.3

3A 48 H31EREH (TR H30ERE) || meozmmgsh | @GiEERD)

—— 1,266 1,496 5,436 5,553 16,537 16,452 18,225
(A3.3) (A2.1) (A2.1) (A8.0) (A11.0) (A9.7) (A 29)

— 10 12 36 50 159 148 152
(11.1) (A20.0) (A28.0) (A16.7) (A1.2) (A2.6) (3.4)

(& - 8 11 53 75 203 182 197
: (A66.7) (A8.3) (A29.3) (141.9) (26.9) (A7.6) (38.7)

w o 0 0 7 11 25 25 33
. (A100.0) (A 100.0) (A36.4) (0.0) (A30.6) (A24.2) (A 67.0)
2 3 77 130 396 386 1172 1,155 1,296

-= " (A3.8) (26.2) (2.6) (A18.9) (A14.5) (A10.9) (A 7.2)

~ - 1,361 1,649 5,928 6,075 18,096 17,962 19,903

= A (A4.5) (A0.8) (A2.4) (A8.2) (A10.9) (A9.8) (A 3.2)
H31.1~4 H30.1~4 H30.1~12 H304~H313 | H29.4~H30.3

38 48 (H31ERED (HT4E RIHA) (H30FEREH) || H0EERED) | (RIEERHED

* o o 0 0 0 0 0 0 0

L |EETE 0.0) 0.0) 0.0) 0.0) 0.0) 0.0) 0.0)
* I z 0 0 2 0 2 4 4
= (0.0) (0.0) (0.0) (0.0) (A50.0) (0.0) (A55.6)
e 0 0 0 0 0 0 0

25 : (0.0) (0.0) (0.0) (0.0) (0.0) (0.0) (0.0)
- 0 0 0 0 0 0 1

= (0.0) (0.0) (0.0) (A100.0) (A100.0) (A100.0) (0.0)
~ = 0 0 2 0 2 4 5

= " (0.0) (0.0) (0.0) (A100.0) (A60.0) (A20.0) (A44.4)
H31.1~4 H30.1~4 H30.1~12 H304~H31.3 | H29.4~H30.3

38 48 GEIE: ) (R4 R HA) (HIOERE) || HoZERED | RTFEERLD

- 25 24 102 121 293 277 404

E TR (25.0) (A11.1) (A15.7) (A32) (A2628) (A31.4) (6.9)

Bl m 3 0 0 1 4 15 13 15
(0.0) (A 100.0) (A75.0) (33.3) (7.1) (A13.3) (A 31.8)

w o= 0 4 5 2 5 4 11

I (A100.0) (0.0) (150.0) (A33.3) (A54.5) (A63.6) (37.5)
A = 25 28 108 127 313 294 430

= " (19.0) (0.0) (A15.0) (A3.1) (A26.4) (A31.6) (5.4)
H31.1~4 H30.1~4 H30.1~12 H30.4~H31.3 | H29.4~H30.3

3H 48 (H31ERED (BT R (H30EREH) || HomEmE) | @IEERD)

&= TR 66 93 264 312 838 775 801
(A25.8) (19.2) (A15.4) (113.7) (24.7) (A3.2) (68.3)

- 5 9 28 29 98 98 92

mos (A37.5) (A10.0) (A3.4) (31.8) (6.5) (6.5) (8.2)

] 3 98 103 350 256 1,045 1,106 950
’ (38.0) (47.1) (36.7) (A15.0) (4.4) (16.4) (A2.2)

o o= 1 0 1 3 8 6 8

= (A50.0) (0.0) (A66.7) (0.0) (0.0) (A25.0) (0.0)
2 = 33 34 144 112 421 449 396
- (13.8) (10.0) (27.7) (A26.3) (A3.0) (13.4) (A 18.5)

A = 203 239 787 712 2,410 2,434 2,247

= B (2.0) (26.6) (10.4) (14.1) (9.2) (8.3) (10.9)




